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B BE B B = NO. 1
I i Al Al g - Tk B4 | BRETRE | BEHE i
EHERET
HEEIT
B Al Mt i T m* 310.2 310
KRIET
K1 e T m* 101.0 100
BRT
# R ®Ed)| BEELOmKE [ m’ 30. 8 30
" FEEIE]. OmBLE4 Omks | m® 23.9 20
# R (BEW) | BEELOmKE [ m’ 10.3 10
" HERIE]. OmBL k4. Omks | m® 10. 0 10
R Mt T m* 10.2 10
HLEWT
L Eik EMRIEEE L=6. OkmEA | m° 366. 7 370
R R T
WRBRT
BRAR I R (£ A > FREILH : t=35om) [ m® 148. 8 149
HokEEY T
fRET
£ RUBEEA 300 x 300 m 39.3 39 |ERB/L35




B E R E R NO. 2
I i& 2 7l oAl R - Tk B4 | BREtEE | BERE =
L By QYN S
KRUZEIEB 300 x 300 m 13.3 13 |HEBE299=#2
ST
K i 400 x 400 x h1250 H 1 1 [BRERK
IR 1300 x h 700 H 2 2
LT LA —RiEEN 1450 x H1060 H 2 2
BET
BEEILE S LERSET ¢ 200VU m 24.5 25
& S#F Bt T84 TRER 200mm| & 4 4
SET
TEEET
TEEET WEMEIL m 1,257.6| 1,260 |(E&EZR)
BT (HE)
=EI (t=5cm) BATRETRILQ0) | m 1,449.1 1,450 | (BEEER - #ER)
E ol s b
REI (t=5cm) BARIE7ZRa 13| m 121.7 122 | (EEER - &%)
Ff-bhHEHE
HERET (t=bcm) BAEBEZRLQ0) | m 121.7 122 | (EEES - #1E%)
PRAET (BE)
FERET (t=15cm) | BAMARE RM-40)| m 191.5 192 | (BEEER - #ER)
TEBEBT (t=19m) | BAYARE RC40)[ m 191.5 192 | (EERR - #75R%)




B B B B = NO. 3
I & Al H Al R - STk B | BREHE | BERE =
KBTI (t=6cm) |FEKHEEHFRBL (t=6cm) | m 349.7 350 |(HiERD - #TER
BKS— b (F#i) ni 349.7 350
BET (BAEYARE - t=10om) | 349.7 350
J4LE—BI | (£ - t=10cm) ni 349.7 350
BAEL
BET
SEEHERIOVY AT E m 2.4 2
" — By m 26. 1 26
" Y1 T m 11.2 11
" EIN- m 74.5 75
#hsEER IO w4~ C| 150 x 150 x 600 m 16.0 16 |—fg &R
" 150 x 150 X 600 m 43.9 44 |RALH
#EER IO v oAl 120 x120 x 600 m 23.2 23 |AERYIY
E AR E T
HRBAER iR T
B PR R BR AT H=4. 5m & 4 4 [ (—fBR)
N RER—)L H=910 & 3 3
SH-6
5liAtE - HERE | 9 FERE 300%300%120D | #H 1 1 [BRAEHRE

BE - ECfR T




B E R E R NO. 4
I & A HH Al B - STk Bii| % & BERE w =
EABERUIFLUE FEP30 m 73.7 74 |thehERE
EHR (HH4Z11. 5mm) CV/3. 5sq-2C m 13.7 74
BEL—h 150mm 2% FEAHA| m 73.7 74
HEMmER T
BRIOYIRET
FE/NARIL 3300 x 300 m 31.6 32
B A T
1 7 B LE HRA (H=900) m 41.0 41
1 7 5 LE #B (H=850) m 53. 4 53 7wy 28K
EHEHA (H700 - ETF=0) X 11 11
B %HB (H850 - EE =) x 4 4
RIRFEIT (H800 - &R =X) x 2 2
YAUERET BFatig H=4500 H 1
RUFBRET |[THAURUFA W=1450 H=450 P 2
XE#RT
ARt X B e 1(=)) W=15¢cm m 274.2 270
" £ (8) W=45cm m 6. 1 6
" 735 (8) W=45cm m 31.3 31
" iR (H) W=15cmif 5 m 92.8 93
BEYEETL




B E B B X NO. 5

I i& @ Al o AL I - Tk Hi| & = |BEHS W OB
BEYEE SHEIERR LI B T (t=15emLLF) m 4.2 4
SR E (t=5cm) m 44.3 44
AsEREHE - M5 | EMEIEEEL=T. OkmA R | m® 2.2 2
T AT 7IL SEREK 3
Iy m 0. 01 0.01

7RI 7L SUIEREK

B E EHBLERERIGmET | B 1 1
HERT
HEF T
£+ (£=30cm) m* 1.1 1
ER CE PP % 16 16 [4%/m
MiEITEE
HBRER
TEHRE
B EEE Affiy B LBEHFRER | BiK 1 1

15 15, CBRE & (i1l 1 1




(2]

o



BT TEE f/m = NO. 1
fEHI T
1 Hl BhiE T (TEHEELY) 92.56 m® TEBEE2995 4%
" V=148.8 x 0. 74 (HETER - BERKE) 11011 m° EREILS
" V=349.7x0. 29 GREFER - HEH)  100.41m° »
" V=121.7x0.05 (HEFER - F-bHEHE) 6.09 m® "
& &t 310.2 m®
FRIET K3 Bt it T (tEHEELY) 7.45 m® TEBE2995 R
" " MK ERMEE 6.18 m® ERBILIGAK
" " MK ERMEE 45.27 m° ERBILISREK
" V=2.55m°/10& x 45 1.02 m® BRBAEM
" V=55.0/100 % 63. 2 34.76 m* _ BREAYTECE
" " V=60.0/100 x 10. 5 6.30 m*  menkTER e (MR
& &t 101.0 m®
BRET B R (AT BEET BRIE!. Omkil (TEHEELY) 7.45 m® TEBHE299E
" " " '31.0/100x 63. 2 19.59 m*  BEBAYTECE
" " V=36.0/100% 10.5 3.78 m’  meRTEE (KD
& & 30.8 m*
B R (R4t BT IBRIE]. Om Ll b4, Om K 3.17 m® BRETEISREK
" " " 20.69 m® ERAILIGFAK




BT THRE

£[E =

/P =

& §t

23.9 m°

1# R (BAER) BRIEL OmKHE

V=14.0/100%x73. 7

10.32m*  HBEAKTFERE

12 R (EAER) BT

BRIET. OmLlE4 OmKii

1.08 m® ERAIEIHREK

2 R (BE®

8.93 m® BRATEIBREK

op
Elil_l

10.0 m’

AR AR T 0.31 m* BRETEEIHK
" " 2.53 m® BRATIEIBREK
" " V=10.0/100%x73.7 7.4m°  BREAKTERE
& &t 10.2 m®
ELEHRT
7 T E L=6. OkmLA T HEEI+PRYE- G2R) 0.9 350.3 m* DIDA

"

n

1.02 m° HEEAEHEE

V=20.9/100%73. 7

15.40 m* EREAATARE

& 8

366.7 m*




BT TEH & e NO. 3
Gl gg
=5 (630) T ds
B2 ks REREH  pummryzzLoE =8
T mEm 8
EHIE
1000
X ( VEZTOHEIZ. EMTOBEEZRT,
K IE V=0.55x1.00x100  55.0 100m % Y
RhER V=0.10x1.00x100  10.0 100m % Y
(M) ERT V=0.14x1.00x100  14.0 100m % Y
(BEL)ERET V=0.31x1.00x100  31.0 100m % Y
Bty V=55.0-31.0x 1.1 20.9 100m % Y
KB (BB ED) V=0.60x1.00x100  60.0 100m % Y
(BEDERET  » V=0.36x1.00x100  36.0 100m % Y
Bty " V=60. 0-36. 0% 1. 1 20. 4 100m % Y




¥ B Tt EHEZE NO. 1
Al = B B T FEH R * B i =
NO. 0 10. 00
9.02 8.00 72.16
IP. 1 6. 00
2.96 6. 00 17.76
IP. 2 6. 00
0.44 6. 00 2. 64
IP. 2+0. 437 6. 00
& i 12. 42m 92. 56m3
B R T E2HEE NO. 1
B A BB & FHWE & S
NO. 0 0. 60
9.02 0. 60 5. 41
IP. 1 0. 60
2.96 0. 60 1.78
IP. 2 0. 60
0.44 0. 60 0.26
IP. 2+0. 437 0. 60
& i 12. 42m 7. 45m3




K 1E 2 i 5 E NO. 1
Al = B B Lt BT * B i =
NO. 0 0. 60
9.02 0. 60 5. 41
IP. 1 0. 60
2.96 0. 60 1.78
IP. 2 0. 60
0.44 0. 60 0.26
IP. 2+0. 437 0. 60
& i 12. 42m 7. 45m3
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TTHRHRHE (VU4 200) RAE

EAIER 2.55 0 m
5 2. 508 N
Iy F .
|
|
' B X4y .
. ([
T ki I o 3
S | Feh 1 Q LR
O I ~ =
% '
=2 1. 616 R gl
2l | | s |
e e M
B
J— A
i ARGHEE
' AR et < ﬁﬁ =
1 ™~ I \u <
.3 N o = :é =}
____________________\\i_-_// "I v Y v
\4 L 69%6% v
:
=
’ 1. 200 . =
T & " H g L ¥ E
PR 3 (( 1.200 + 2.508 ) X 1.308 =2 ) X 2.55 6.18 m®
WHERE  (t=10cm) 2.55 X 1.20 X  0.100 0.31 m?
WA © 0.216°2 X w/4 = 0.037
AR (FAED) n49 [ (( 1.300 + 1.616 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXASHIE (FFERD) 0.424 X 2.55 1.08 m®
BXAHR (F4+) ((1.616 + 2.508 ) X 0.602 =2 ) X 2.55 3.17 m?

7 AL Sy

6. 18 —( 3.17 X 1.11)

2.66 m*
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TTHRHRHE (VU4 200) RAE

BRIEE 21.05 m
5 2.396 N
A F "
|
|
| B &
. ([
T s 1 mm 9 S
S YR N s
” * I N
=8 1. 616 R %
| W ! | s !
B
i A K5y HER t
' AR et < iﬂ@ =
1 ™~ I N <t
3 o = o S
. 'l J <
____________________\\i_-_// "I v Y v
\4 L 69%6% v
=
=
’ 1. 200 . =
T & " H g L ¥ E
K 3 ((1.200 + 2.396 ) X 1.196 =2 ) X 21.05 45.27 m?®
WHERE  (t=10cm) 21.05 X 1.20 X 0.100 2.53 m°
WA © 0.216°2 X w/4 = 0.037
AR (FAED) n49 [ (( 1.300 + 1.616 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXASHIE (FFERD) 0.424 X 21.05 8.93 m?
BXAHR (F4+) ((1.616 + 2.396 ) X 0.490 =2 ) X 21.05 20.69 m?
7 A5y 45.27 —( 20.69 X 1.11) 22.30 m?®
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gk B THRE & NO. 1

i7:)7 4= (ZAY FREMEH : t=35cm) EEHR 148.8 mi HETERSE

148.8 mi
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Bk EM I L &l £ NO. 1

AiET

FRUZEIEA300 % 300 39.3 m EREIL 5

£ RUZAI;EB300 x 300 13.3 m  ™iEBE2995R
EKk#HtT

£ 7k #1700 x 700 x H1400 1 & EBREMK

2 #t (01300 x h700) 2 B HEBE2995R

L)L —RiEFEH 0450 X H1060 2 B ERETYIE—
EET

BEELE - LERRT L=3. 00+21. 50 24.5m HETERSRE
A& SH#RF Bhft 1+ 2 4 T KEE $200 4 @&




BEKEEYMT B & A1) NO. 1

=
HKEEY
RRUBEE | £kHTI00x | gmp | RRUDAGE

X M B {] A300x300 | 700xH1400 | (C300xh700) | B300 x 300 B *
20N0. 5+2. 63~2CEC. 6+1.00 | m 39.3
ERAI L5 5E N H 1 ER& /K
IN0. 0~N0. 0+0. 50 H 1 BB 2995 #%
INO. 0+0. 50~N0. 0+2. 00 m 2.2 "
INO. 0+2. 00~NO. 0+2. 50 H 1 "
INO. 0+2. 50~ IP. 2+0. 437 m 11.1 "

op

5 39.3 1 2 13.3







ST £ NO. 1
HEERET
TEEET #HREMEL (FEIEE) A= 1,257.6 m* HESHEFEARSE
FRIF7IEHET (FEEAD - #TER)
BABNMEY 23> (20) (t=5cm) A= 1,257.6 m* HESHEFEARSE
" " (B% PR o B &) A= 148.8 m? "
" " TEBEE299 5 £ A= 42.7 m’ STETERSE
B 1,449.1 m?
ElbhHHE (EAV RS LY ES)
BRIET7 R (13) (t=bcm) ERER) A= 121.7 m* HEHEFERSE
BAEHENEY X3 > (20) (t=5cm) (BB H) A= 121.7 m*> HESHEFERSE
BRAET (EEED - #7EH)
B A RiER%A (RM-40) (t=15cm) A= 148.8 m* HESHETERSE
" " TEBEE299 5 4R A= 42.7 m? SETFENSE
& & 191.5 m?
B4 YLARSA (RC-40) (t=19cm) A= 148.8 m*> HESHETERSE
" " TEBEE299 5 #R A= 42.7 m? STETERS R
& & 191.5 m?




METE i = NO. 2
RET
KM EE T ARBL (t=6em)  (S:8E0 - H3) A= 3497 m! HESEFENSE
7y 3o (t=3cm) A= 349.7 m 1"
FKS— b (R A= 349.7 m "
PEBET (B4 EARE - t=10om) A= 349.7 m "
S LB —BT (B4R - t=10cm) A= 3497 m "
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BAIEH

nj
T H

I

NO. 1

Nt

HEFER IOV Y

AL 2.4
—h&H 26. 1
YT AR 11.2
FEARB 14.5
s ERER IOy Y (Ci®)
— g 150 X 150 x 600 16.0
FEARD 150 X 150 x 600 43.9 USR5 Y= F—NEYY)
s ERER IOy Y (Af®)
120 x 120 x 600 23.2




ZAaT B = NO. 1
SEBEERT 0y

X M Bofr| B | e | 9ITE | RAL % =
2CNQ. 5+3. 30~2CNO0. 5+3. 90 0.6
2CNOQ. 5+3. 90~ 2CBC. 5+0. 43 12.0
2CBC. 5+0. 43~2CBC. 5+1. 03 0.6
2CBC. 5+1. 03~2CNO. 6+0. 18 6.2
2CNO. 6+0. 18~2CNO0. 6+0. 78 0.6
2CNOQ. 6+0. 78~2CSP. 6+1. 06 14.1
2CSP. 6+1. 06~2CSP. 6+1. 66 0.6
2CSP. 6+1. 66~2CEC. 6+3. 29 5.0
EREILIHZA 42.1
EREILIZA 32.4

& i 2.4 26. 1 11.2 74.5




BAL B £ NO. 1
HhEE5R 7 nysC HEFER IOy IA

X BB —fBER FEAL 1
2CEC. 65 (AMERYY) 16.0
JERGIEIBA AR - 25— T—ILRY) 43.9
2CEC. 65 (MERYY) 1.5
2CEC. 651 (NERYY) 15.7

A E 16.0 43.9 23.2
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BRI T &S H £z NO.
FEBRRE T
SERRER AT Hed.5m  (—HgF) 4 # HETEARSHE
N RR—IL H=010 3 £ HETERSH
BIARE - B H=6000. 5>E# (1 = BHFEEY) 1 % "
B - BT
EABEARYTFLUE  FEP3O L= 63.2 63.2 m (G
" p L= 10.5 0.5 m (GBI
=i L= 73.7 m
48 (514211, 5mm) 0V/3. 5sq-2C L= 63.2 63.2 m  (SEE)
" p L= 10.5 10.5  m (BN
&t = 737 m
S — b 150mm 245 BAHMA L= 73.7 3.7 _m
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TEMEER TEE B £ NO. 1
BEHIJovy (@FJavy)
FE/R)L [0300x300 (Bt A=31.6 3.6 M EEITERBE
FhEEH T
HEBTRTLEHRA  (H=900) L= 41.0 m "
REMRAIEHRB  (H=850) l=  534m HETEESE
" " m7vy N= 28 &
Bibsh A (H700 - EF=) N= 1 & "
Bibsh B (H850 - ExER) N= 4K "
RIREFEE (H800 - & RR=L) N= 2 A "
HAUBRET
Byt H=4500 N= 1£ HETERSRE
FHA AR FA W=1450 H=450 N= 2 & HETENSHE
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X E#R T 55t i = NO. 1
Brh X X E R
E#E(8)  W=15cm L=59.6+121. 6 181.2 m BRABIER
" " L= 17.0+24. 4+10. 3+11. 0+30. 3 93.0 m FI5%, 29—
&it 274.2 m
BE4R (5)  W=45cm L=1.4+4.7 6.1 m Ry MR N\REFER
&it 6.1 m
75 (H) W=45cm L=7.1+11.7 18.8 m *I5%H
&it 3.3 m
E8(8)  W=15cmia & L= 6.3+6. 3+7. 2+6. 3+5. 6+4. 9+6. 3+7. 2+11. 8+9. 2+7. 7+8.4+5. 6 XF - KN
ait 92.8 m
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BEMBE TS B £ NO. 1
SRR I T (t=15emLLF) L=4.2 4.2 m SERBERERSE
SEMBE (t=bem) A= 44.30 44.3 m* SERBERERSE
7RI 7 )L b EIWRK LS 0.130m%/100m x 4. 2m 0.01m  (t=5cm)
SHLE R ER IR As5% V=44.3x 0. 05= 2.2m




M ERRE

SERRIET (t=5cm)
A=44.3ni

72.87

SR T
L=4. 2m /

42

% CADEHRIS[EZ & 5 FH{E
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EE ey

i e NO. 1
Bt (t=30cm) A=3. 77 3.71m  HETEESHE
" V=3.77x0. 30= 1.1m
BEXR CAVENVIP)) A%k/m V=3. 77 x 4= 16 %k
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ERUBIEA 300300 HAUHETFES 10m24 b
500
230 115 155
&
19
of 8
REELSIL
(E2&1:3) - < 3
HLarvsy—r - u,, u "A 2 ; 3
(o ck=18N/mm2) @@ =
HERBE
(RC-40) 50 100‘ 300 | 10050
600
& Al FRI& - ik g & & # # =
Bk
ERUEAIE 300/ L=2000 [N= 10.0/2.0 5,0 XK
(o ck=18N/mf)
HEEa o )—+F | EY V= (0.05x%0.60) x10.0 0.30 m®
iy e BL A= 0.05x2x10.0 1.00 m?
SAREILZIL B&1:3 V= 0.50x0.02x10.0 0.10 m
BEY7905Y
HIERA (RC-40) t=10cm | A= 0.60x0.1x10.0 0.60 m
&= 300/ L=2000 4.0 #
AlEE (ST 300F L=2000 1.0 %%

X BRI, ERPBAE, BT/ Ay —URAICET,




®
®

5.0
4.0
1.0

F (0nog |[ o208
000a || ooan
0000 {f 008D i
oood || oosn
8555 || 838
o 0000 | oooo
0000 || 0ooo
s 0000 || 008D
! 5505 || BRte i3
£ & ] o S ey
(= S oono || ooon =]
— a 0000 {f 008D 3]
0000 || 0oo0 i
i 000a || ooan =
= 0000 || 008D
0000 || 0oo0 N
000a || ooan
™ s 0000 || ooao S
S N S
v ;54 0000 || oooo &
0000 || 008D &
& 000d || ooEn Eee—
0000 || 0000 - NoE==—=01
0000 || 0Doo M-
$ 0ooo oooo E.—._
A 0000 {f 0oo0 =
[ 0000 || oooo
b 0000 || oooo mE
000 || oog
000e || 0ooO
0oooo oooo
0000 || 0ooo
0000 || 008D
0ooo 0oooo
0000 (| 008D
0000 || 0ooo
0o0d || ooEn
0000 {f 008D
0o0o || oooo
0o0d || ooon
M_
00§ 00§

o

18N/mm2)

ol

BREEILZIL
(BB&1:3)
HLaroy—=~F
(ock=

g &H R

1o

)

B ¥
100
J
9.5

2T,

-

(Ey44—XYvy k)
(Ey44—XYvy k)

(0.05%x0.55) x10.0
0.50x0.02x10.0

0.05x2x10.0
500 x 2000 x 100
500 x 2000 x 100

10.0/2.0

X Ea ., ERBREE. Iy r— ORI

N
Vv
A
Vv

i
3l 8 1€ gl g
re) ™ o [re)
Z i
3 / ......  yb #H
= g —! +
[Ts)
o
S 38
S 2
8 00¢ 08

7V

FIVHT
10cm [ A= 0.55%0.1x10.0

2000
18N/mif)

REBEY

2000

E2&1:3

300 L
BAEY
300/ L=2000

(ock
(RC-40) t

300 L

001 08¢ 05 001

m —
i oR
=

= .
2 & i

[

ERUBEIE
BEJLYI
HIERA

&=

B
|

figE (EEA)

HKT

E#aroU—+



e (1300 x h700) HUMBSHEE 1052 Y
500 500
300
&
S 1 [
N B =y D
— J TR (Uck:ISN/anZ)
8 VLR RC-40) ]
550
& Al FRI& - ik B H R W # =
&I 300 x h700 AL FEE. B L—F 5 T-25 10.0 H
(o ck=18N/mf)
gay)—k mEEEY | V= (0.30x0.30%0.05) x10.0 0.05 m
(o ck=18N/mf)
HEEa o )—+F ARG V= (0.55x0.55%0.10) x10.0 0.30 m®
iy e HL A= (0.10x0.55x4) x10.0 2.20 m?
BEY7905Y
HIERA (RC-40) t=15¢cm | A= 0.55x0.55%10.0 3.03 m




HUED)
500
230 115 155
&
SEEER IOV (MEBIRE)
180 x 230 x 250 x 600
18
REELLIL =8
(B@&1:3) \ [ Y
N
. ,
& Al FRI& - ik B H R W # =
mmBiE
SEEERT 09 | 180x230x 250 x 600 | N= 16.7
SAEEILEIL E2E1:3 V=10.23%x0.01x10.0 = 0.02




GET R BAaHEHTEE

HUED)
500
230 115 155
173 X iR
SEEERIOvY (MEBE)
180 x 230 x 250 x 600 \
——— | 15
7
FEBELEL T =
(B&1:3) H -
& Al FRI& - ik B H R W # =
i B & (IH=R)
SEEERT 09 | 180x230x 250 x 600 | N= 16.7

AEBEEILZIL Ea1:3

<<
1]

0.23x0.01x10.0




BEI  UTH HNHEHEE 10m24 Y
500
B 230 115 155
gTFIayy N7y —1) 1ﬁ
202 %210 x50/70 x 600 \ H
BEELLL I =
(E&1:3)
2 bill g - Tk g & & # # =
Ny 721)—8)
SEBEERT 09) | 202x210x50/70x600| N= 16.7 {&
SREEILAIL BEE1:3 V=10.23%x0.01x10.0 0.02 m®




Mg H5 55" Ivh (150X 150 x 600 ci8) HANIIEtEE —fE 10m24 U
E% - 200 ——
15050
- MERKRIAYY
e 150 x 150 x 600
]
S ]
— % GAEELZL
(Fa1:3)
ARRE
200 (RC-40)
B sfs - ik B OH R o W B
150 x 150 x 600
MR nyh (C?@) N= 10/0. 60 16.7 {&
SREELAIL EE&1:3 V=0.15%0.02x10.0 0.03 m
BEITIIY
HEBRa (RC-40)t=10cm [ A= 0.20x10.0 2.00 m?

X ERBRAE. Iy —OREICED,




R 0y (150X 150600 cig) HPMMEEE FAL 10m4 U
200
B& 150 50
o MERRIO VY
i 150 x 150 x 600
S REREE REEILAIL
D N (BA&1:3)
T E#aLsy—t
S %8%@8 (o ck=18N/mm2)
ERRA
200 (RC-40)
iRl AR - R ¥ B
150 x 150 x 600
SR ny) (CH#®) N= 10.0/0. 60 16.7 &
SAEBE)LAIL BEE1:3 V=0.15%0.02x10.0 0.03 m’
o ck=18N/mri
arvy)—bk  |Es - S| V= 0.20x0.20x10.0 0.40 m
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